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Problems of the Week 7  

 
Always show your work to receive credit (NO WORK=NO CREDIT) 
1. A long copper rod of radius R=4.00cm has a cylindrical cavity of radius R/2 as shown below. 

The rod carries a current of 300.0A into the plane of the page. What is the magnitude and 
direction of the magnetic field at point A? 

BA

 
A. gaussi )ˆ.( 010−  

B. gaussi )ˆ.( 030−  

C. gaussi )ˆ.( 060−  

D. gaussi )ˆ.( 020  

E. gaussi )ˆ.( 030  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2. What is the magnitude and direction of the magnetic field at point B, a distance 2R from the 

center of the rod? 
A. gaussji )ˆ.ˆ.( 434206 −  

B. gaussji )ˆ.ˆ.( 562503 −−  

C. gaussji )ˆ.ˆ.( 657590 −−  

D. gaussji )ˆ.ˆ.( 680980 −  

E. gaussji )ˆ.ˆ.( 760215 −−  
 


